i

FAMCO

CECDT

(205 Uagsaio 6312) (S 0S) 1o P JioglsS « lgs

WP SUy by cds 08U (59,295

EG)www.famcocor p.com -

= (D Tel:eb1-F Acooo EQ
Q‘ E-mail: info@famcocorp.com

(&) @famco_group

©) Faxwori - FFaaEsEY



iption and model

Descri

reparation NOG BTD/ NOG BTS 40-400

NOG BTD / NOG BTS series of new valve pneumatic actuator

NOGBTD/NOGBTS new rackand pinlon preumatic actuator bythe nocx company
combinesthe: latest technology ot home ond abroad, through thethree-
dimensional model of Innovation and optimizationof CAD design, beautiful
shapecompact, modemstyling; ond adoptpractical new materials, new
processes, 5o thatthe product qudity, more relioble; more standard selection of
more affordable; products fully meet the latest international standards, technioal
specifioations, to meet current and fubre needs.

Ddual piston rock ond pinion design of symmetric structures, rapid and smooth
movemnent, high precision, highoutpirt power by a simplechangelnthe
direction of the plston assembly positions avallable amt-rototion.

@high qualyextruded chaminum alloycylinder black, bypredsion mathinig
the hole andthe exdemnal surface of had anodized (anodic addation

under special drcurnstances + Teflon coating)y longer life, low fricticn coefficient.
®intsgrated design, allthe double actingand single-function actuatormodels
have the same cylinder and end caps, easily removed by nstalling o

spring orspring tochangethe moda of action.

fH)www.famcocorp.com

) E-mail: info@famcocorp.com

) @famco_group

'r(:’ Tel:ePl-FF A oo oo £ 9

©) Fax:or) - FrEaqESEP

@combined pre-spring bredk Heariwhole group, whether In the assembly
proomss oruse on-ale b both corvenlett ond sofeto install or thange the

Bithe extermal side ofthe two single Independent adustmant screw has been
number of springs. instaled in the vave forthe actudtor fs precissly to
faciliterie, control vave open and vave closed position, For the whole trip
conditioned office Is dso configured h two cover a longer adjustment screws.
(@multi-positon indlcator, on-afte visual Instructions, consistent with
VDIVDE3845, NAMUR standard sbot, the output oan ba instofled and

all the accessories, such as limit switch bax, electric positions; position sersor
(Pepperl ond Fuchs, Turck).

Dgas source interfoce live NAMURstandard, direct safety plaquesNAMUR
standard solenold valve.

@xack on the badk of the composite beaing and piston gulde rhg avd the
output shaft bearings to prevent metd an metd friction and increasing
lubrication, so a kow friction, long fife

@Al fosteners are stainless stee], lbng-term corrosion resistonce.

(@ connection part of the Ihe with rew Itenmationd standard 1505211,
DINZ337 {FO3-F25) makes products with interchangeable, versatiie.

(225 Uograo 0312) (5,540 o)S) ju Pl yioghS « ¢)lyg5

1P Sy« Ly cuds oS, UL (59,29



Companents and materials, corrosion NOG BTD/ NOG BTS 40-400

Model preparation
NOGBT-160 S-K10F10/12 P27-90-B-A

_-]________ @. Corroslon Reeistance Grade:A,B

@& Ambient Temp.: Stendard-B, Low Temp. D, High Temp.: G

(. RotationAngle: 0°~80°,0°~120",0°~180°,3 Position

@®. Shaft Size Code: P-Star Square, H-Parallel Opposlte Hole, W Twa Key Hole

@&, Connectlon: 1805211 Standard, Flange Size, FO3-F25, Star Square, 9-55

@. Spring QT: K5/K6/K7 /KB/KI MK1G/KL1/K12/K13/K14/K15/K16, Mot Avallable for
Double Acfing

@ Type: D-DoubjeActing, S-Spring Return

[ @. CylinderSize:40~400

@. BT Serles Pnsumatic Actuator

Components and materials, corrosion

Protection category
A B

Parte

aylinder Hard anode oxidaton | Teflon coating+ Anode scleroale

Cover Polyseler coated metal | Teflon coating

Oulput shatt Carbon sleel electroless| Electroless nickel plating
nickal plating or stainiess steel

Geneml accasione of low

Use Occasion
Gareral situation e wrations of acidh .

fH)www.famcocorp.com P
- (D Telwori-F Aoooo k9 (255 Ugsaio 8312) Skl 0S54 ¥ jioglsS « g

,' E-mail: info@famcocorp.com =
L © Faxwer1 - Fraarsey P Sl cpuyly cuds sy UL (59,29

©) @famco_group



Pneumatic Actuator NOG BT Series

Part Number Each number Part Name Standard Materials Selected materials
4] 1 LsitCiver Alminum DisCasing Stalnless stesl
- S FghiConr AurhumDeCastrg __ Stainkessteel
o3 1 body Aurinumeduein Stalnless stee!
04 2 Piicn Aumnihum De Casing ————
05 1 Quiput shatt CearberiSigat Stalnless gesl
06 i Cemadiment Seiriceysed) ———-
07" 2 Ol NER Fluoringor silicone rubber
08+ 2 O-sirg (Pisir} HER Fluorinear sllicone rubber
oa- 1 O gt beofirery NER Fluorineor silicons rubber
10* i O-ing fouignt sheat athe 1op) MNBR Fluorineor sllicone rubber
11* 2 O {ad) wing s NER Fluorineor silicone rubber
12* 2 { Pug {lincier) NER Fiuorineor sllicone rubber
13* 2 By (P POM —
14+ 1 Besring jnupu sheftetha o} POM ——
B5 1 Bawry a1t sl oM
e- 1 Cukiowh By Pty POM =
7 2 _ Trmat beastgn i st POM
L] 2 Geslet iuiput el Sieinss dedl ==
) 1 Pl g Soig s —
20 4 Coverbot Seirisessedl k-
2 4 Cover Geshet Sinossded [—
2 2 Gasket Sairieessed ===
23 2 Nt Sainiesesied ———
7 2 AdEmartiok Senisesdeel —
25 5-12 Spring Corrponents Aoy spdrg el -
26 1 i Posion icair POM —
7 1 | Sorewcf incicakr POM - -
Torque Diagram
Starh T o yuef End Start Sta rt
Tt TO'I'CIUB' End End Tal-que
|
o° 45° 90° o 45 90° 0" 45 9
— oy
double acing single acting
Doubie Acting Operation
] 1
Selaction of doubleoetion achuckors
The suggested safely factorfor dubie acling actuaton under nomal workng
condclions |s 20%-30% | I
Baampie:

@ The foraue neaded by vave=100N.m
®Thetorque consdessd safstyfacior 100X (1+30%) =130 Nm |
@Ar Supply=5 Bar

Accoiding fodoubleacing torquetable, wecan choosethe minimum mods EET- 1050 |

Airfailto Port* B clockwise(closs) |

Jwww.famcocorp.com ~
. P (’ Tel:oPI-F A ecocoo 9 (25 Uegraio 0312) (5,54 01)S)ju Pl JiogliS « ylygs
() E-mail: info@famcocorp.com =
' ©) Fax:or) - FFagrEsE? 1P Sy« Ly cuds oS, UL (59,29

@famco_group



Pneumatic Actuator NOG BT Series

} Output OUTPUT TORQUE OF
Tonque DOUBLE ACTING ACTLEIORS

e N

Jm - L
- £ % e T

o0r * Plstons must be inverted 1o reverse actuator ratation

Spring Return Operation

Seiection ofsngleacton acluators output Torue biggerthan ol ourneeds

Undier nomndl operating condiions, a sngle actudlor o consider the iole ofhe

safely factorof 30%-50%. Notex

Forexample: Snglecicion duing thespring Fefumaciuaion, aciuckr | hols vertiationdoes
Vilve requfed forque = 100Mm not afect acluaior cuiput forualnstead IF's hekpful of sping refum

Saety forgue =100% (1 +30%) = 130N.m

accordngfogngie acthg octualoroutputiorouetable, wecan find BT-1405KI0
Torque folowing

Implemetialionorocess0° =2168N.makr

Implermerialionprocess90° = 1758 Nm ar

Spingshoke0® =172N.m

Sprngaioks 90°  —258N.m

B 1 :
1
| | ‘
[]
| | ‘
- AIrfﬂlItoPort B clo:kwl;e(clou) i __Airm;hﬂ"t\_‘:coun_te_:doc%a(opuﬂ l
* Spring force makes the actuator clokwise when the air ks exhausted at port * A ®
* When airfailto counterdockwise i required, the plstons rust be hverted
)www.famcocorp.com —
P (l’ Tel:oPI-F A ecocoo 9 (25 Uegraio 0312) (5,54 01)S)ju Pl JiogliS « ylygs
) E-mail: info@famcocorp.com =
= .@ Fax:oPl - FEqqESEY 1P Sy ¢ by cuds 68U (59529

) @famco_group



Pneumatic Actuator NOG BT Series

Double Acting Actuator Output TorquefNm)

Wﬂ Alr supply pressure(Unit:Bar)

Model 3bar 3.5bar 4bar 4.5bar Sbar 5.5bar Bbar 7bar 8bar
NOGBT-40D 5.7 8.7 7.6 B.8 2.6 10.5 11.4 18.3 15.2
NOGBT-52D 12.0 14.0 18.0 16.0 20,0 220 240 26.0 820
NOGBT-53D 21.0 245 2B.0 315 35.0 385 420 19.0 56.0
NOGBT-75D 30.0 350 40.0 45.0 55.0 80.0 700 80.0
NOGBT-83D 457 53.3 81.0 686 838 91.4 108.7 1219
NOGBT-92D a7.4 787 BO.O 101.2 123.6 184.9 167.4 179.8
NOG E1-1050 7.8 113.9 130.2 148.4 178.0 195.2 227.8 260.3
NOGRT-125D 152.2 177.6 2030 2983 279.1 304.4 3s55.2 4059
NOGRT-MOD 260.3 3037 470 2904 477.2 5208 607.3 8941
NOGBT-160D 3956 4527 528.8 594.9 727.1 7982 9254 1057.8
NOGET-190D 630.3 746.0 BG2.4 £60.0 1172 1 1278.6 1481.7 1704.8
NOGRT-210D 7810 811.2 1041.4 1171.6 1431 9 1562.0 1822.4 2082.7
NOGBT-240D 1147.8 13388 1530.1 1721.3 2103.9 2295.1 26776 3060.2
NOGET-270D 1742.9 20334 23238 2614.3 3195 3 2485.8 4068.7 48477
NOG BT-3000 23808 2789.3 3187.8 35882 4383 2 47818 B578.6 83755
NOGBT-250D 3580 4178 4773 5360 6563 7158 8352 9546
NOG BT-400D 5100 B850 6800 7650 9350 10200 11900 13600

60.0

78.2
112.4
162.7
253.T
4338
661.0
1086.6
1801.7
18126
2804.8
3984.7
5986
as00
=

SRS

l- L

NOG BT-40 L — A o
DIMONSION oG 57.140' NOG BT.160. NOG T30 NOG BT.210 < NOG BI240 « NOG BT270 » NOG B1-300 « NOG BT-350 Unit (men)
Model 3 3 I R T = L M| N|[P| Z| Ar
NoG BT40 | 25| 50| 24| 32| 56| 76 | 48 | 20| 36 | ro3| 50 | Fos| Msxe | Mex10 | 9 | 1| 42| 110 18"
NOG BT-52 | 30 | 80| 30 |42.5(724 924|505 20| 36 | FO3| 50 | FO5| M5x8 | MEx10 | 11 | 14 | 42 | 150| v4"
NoG BT-63 | 30 | 80| 36 | 47 |885/108.5695| 20| 50 | Fos| 70 | Fo7| Mex10 | Mex13 | 14 | 8 | 42| 171] va
NOG BT-76 | 80 | 80425 53 | 100| 120| 78 | 20 | 50 | FO5| 70 | FO7| M6x10 | M&x13 | 14| 8 | 42| 188| v’
NoG BT-83 | 30 | 80 |465| 57 (1095/129.5 86 | 20| 50| FO5| 70 | FO7| M6x10 | M8xt3 | 17 [ 21 | 42| 206| 4’
NoG BT62 | 30| 80| 50| 58 | 117| 137| 90| 20 50 | FO5| 70 | FO7| M6x10 | MEx13 | 17 | 21 42 | 285 Y4
NOG BT-105 | 30 | 80 [57.5| 64 | 135| 155/104.54 20 | 70 | FO7| 102 F10| M8x13 | M10x16| 22 | 26| 42 | 272| V4"
NOG BT-125 | 30| 80 (675|745 157 187[120.4 30| 70 | FO7| 102| F1D| M8x13 | M10x16| 22 | 26 | 62| 04| V4"
NOG BT-#40 | 30| 80|755|755| 74| 204 125| 30| 102| F10| 125| F12| M10x18 | M12x20| 27 | 32 m Vs
NOG BT-180 | 30 | 130| &7 | &7 | 198| 228| 143| 30| 102| F10| 125 F12| M10%16 | M12x20| 27 | &2 | 80| 462| V4"
NoG BT-180 | 30 | 130| 103| 108| 282| 262 172| %0 | | | 140 F14 | Mi6x25| 36| 40| 80| 652 ve°
NoG BT-210 | 30 | 130| 13| 113| 257 287| 194 30 /| 140/ F14| | m16x25| 36 | 40| 00 | 58| V4"
NOG BT-240 | 30 | 130 130 130 | 22| 322| 230| 30 165 F16 M20x30| 48 | 50| 90| 630 V4"
NoG BT-270 | 30 | 130| 147| 147| 331 361| 252| 30 165 F16| | M20x30| 46 | 50| 90| 750 vz
NOG BT-300 | 30 | 180| 161|172 | 354| 384| 290| 30 165| F16 ’I M20x30| 46 | 50| B0 | 772 12
. t

R BT ERTE (D Tel:ori-E Aoooo k9 (2sS Uogiaio 0312) (5,Sud 81)S)ju P yioghS « olgs

) E-mail: info@famcocorp.com

= () Fax:o¥) - FEAqESEY 1P Uy by cuds oSulyUL (59529,

(c) @famco_group



Pneumatic Actuator NOG BT Series

Single Acting Actuator Output Torgue{Nm)

Airpressura oring Torgus .
== 2.5bar 3.0bar 3 8ber 4 Obar 4.5bar 5.0bar 5.5bar ©.0bar 7.Cbar B.0bar 5pring Torque
Modol i o I 90° | O B0° | & Joor |OF o0° |C° 90" [OF | 907 | O° 00" | O 90" | O° 00" |o° 00" o 00°
2 Start | End | Start | End | Starg End | Start | End |Start | End| Start| End | Start| End | Start| End | Start | End | Start | End Start End
& 67 | 38 T 68 | or| 78 | 11.7 | o8 [137 | 118|167 | 188 62 43
6 5 28 7 45 9 | 86| eg | B |18 B 128 | 17 |148 74 5
7 8.1 g4 a1 54 | 101 74 | 121 04141 [ 114 | 161 | 13.4 | 181 | 13.4 8.6 59
NOG BT-628 | 8 73| 41 | 83 | 61 |11.8 | 81133 [101 | 168 | 121 | 17.3 | 121 | 21.3 | 181 29 87
9 84 | 49 |10.4 | 89124 | 89 | 144 | 108 | 184 | 106 | 204 | 169 | 244 | 200 1.1 76
10 | 85 58|11.5 | 76 |196 |96 | 165 | 96 | 195 | 165 | 285 | 196 12.4 858
" 0.7 |64 127 [ 84 | 147 | 84 | 187 | 114 | 227 | 184 13.6 23
12 18 | 72 | 138 | 72 | 178 | 132 | 218 | 172 14.8 10,2
5 0.7 71 4.2 06| 17.7| 41| 212 | 12.6 | 247 | 21.1| 28.2 | 248 10.4 5.8
6 5 128 | a5 | 183 198 | 155|233 | @288 |225 | 303 | 26 125 8.2
7 1.4 84 | 48| 85 | 184 | 184 (219 | 18,0 254 | 204 | 288 | 239 | 824 | 29 14.8 2.6
NOG BT-898 | 8 138| 78 | 71 | 1.2 148|241 | 183 | 276 | 218 | 311 | 218 | 381 | 322 8.7 10
] 6.7 B2 | 19.2 | 127|227 | 162 | 262 | 19T | 287 | 18.7 | 3.7 | 302 | 437 | 372 8.8 123
0 7.8 | 106213 | 141 | 248 | 17.6 | 2823 | 17.8 | 253 | 281 | 423 | 851 209 137
1 20 121 | 236 (156 | 27 | 58| B4 | 281 | #1 | =331 229 15
12 & 19 || 221 |86 | 2665 | 196 | 328 | 24 | 305 | 3 % 16.4
[ 14E | 106 | 195 | 66| 245| 205 | 200 | O55 | 845 | 385| 3.6 | 865 | | 14.5 0.5
[ 128 | 78 | 173 | 128| 223| 178 | 273 | 224 | 323 | 2ra| ava |52.8 | 423 [ 876 7.4 27
7 15.2 ar | 202 147 | 262 | 8.7 202 | 247|362 | 267 | 402 | 247 :na 148
NOG BT-765 | 8 181 1.8 | 231 | 16.8| 281 | 218|381 | 265 | 361 |al.8 232 169
kil 21 1239 188 31 |239 36 | 289 261 19
0 239 | 1. |289 | 21 | 38, -] 29 211
1 288 | 181 | 318 [25.1 318 232
12 B [ | &7 RS 340 a
6 229 | 5 | 289 | 227 | 75| 20 | 452 | 38 | 528 | 46.6| €84 |B32 23 15,8
3 190 | W4 | 267 | 181 | 49| 267 | 4 | 334 (486 | 41 | 572 |46 | 848 | 562 276 19
T 236 | 16| 91.2| 211 | 389 | 288 (485 | 384|541 | 44 [ 617 | 516 322 2.1
NOG Br-83s | 8 26 | 185 | 357 | 242 (483 | 318|500 (964 (&85 | 47 | 661 | & | B14 | 628 368 5.3
] 325 | 198401 | 272| 477 | 348 | 553 [424 | 620 | 424 | 782 | 662 | B84 4.4 285
10 37 | 228|446 302 | 622 [87.8 | 68.6 | 878 | 76.1 | 807 | O3 28 31.6
1 414 |256 | 40 |33.2 | 588 | 332 | 719 | 581 | 871 | 7i8 50.6 .8
12 h = | 455 |Sab | 694 | 28¢ | g7 | 695 | 880 | 527 652 3
5 828 | 217 | 441 33 | 5.4 | 443 | BEP | 565 779 | 88.8| 60.1 | 78 344 233
-] 2841 149 | 334 2@ | 507 | 75| B1.9 | 487 | 75.2 B |gdd | 712 | 968 | 824 412 8
T 347 | 98| 46 | 3048 | 572 | 41.8 (B85 | 691|787 |543 | 909 | 756 |102.2| 755 481 327
NOG BY-928 | 6 414 287 | 620 | 349 | 630 |462|75.1 |574 | BA3 | BAS | 07.8 | 0.6 |120.1 | 1024 & 37.3
3 475 | 28 |92 | 383|704 | 505 | 816 | 617 | 928 | &17 |115.4 | B85 | 1378 | 117.8 61.9 2
D 887 | 1331 [ 111.1 68.7 487
" e15 |128.4 | 1042 756 514
12 743 j12ap | 97.8 825
& 407 (221 | 8e | 484 B2a| 847 402 31.6
6 458 | 222 | G065 | 386 | 769 | 548 5.1
7 533 | 287 | et | 46 689 44 3
NOG Br=in88| 8 B33} 352 149.1 78.7 50.6
9 180.2 (2084 | 1717 8.6 56.9
10 1204 | 197 |161.8 8.4 633
1 119.8 [190.7 | 1823 108 E96
i 12 . | | I— 1088 1434 5 | 1408 118 75.9
] 748 | 47B | W02 | 732 | 1258 79 ]
6 636 | 326 | 8@2 114.48| B34 34 &
T 782 | 422 | 1048| &78 110 7
NOG BT-1268 | 6 B35 5 2302 125 84
3 |214.2 |311.9 |2845 141 94
@ 108.2 |3p0n |24A9 157 105
1 1822 |2008 |2329 173 15
12 L 187.2 |09 |217.8 188 125
1808 |&70 |T743 | @18 217.71 1747 129 86
3 1129 | 819 (1673 | 1063 | 2007|1487 15 1c3
T 1403 | 793 | 183. 7| 122.7 181 120
NOG BT-H0s | 8 887 | 977 401.3 208 137
9 376.3 5801 |4621 232 155
10 3203 (6221 |436.1 258 172
1 333 g |sts g;ﬂ 284 189
a 4851 5 310 21
5 |05 |1225 (2564 | 186.8 | 9227 |554.7 | 208 140
-] 1625 |805 (2288 | W86 | 2647 (212.7 20 186
T 2086 | 104.8 | 2667 |170.7 250 196
NOG BT=1608 | 6 2307 | 128.7 333 223
3 E%: 064 (6822 375 251
] 4 |77648 6408 417 279
11 4874 (7504 [590.8 458 307
— e 41 = S| ke A [ AT A | TR | BT GO0 i
5 333 22 40 331 8 | 47 309 200
8 293 |82 (40 | 2m | 508 | 37 71 240
? %2 | 2or | 466 | 33 433 280
NOG BT-1805 | 8 425 | 261 997 495 320
g 835 |1848 | 1140 &7 360
10 er4 |1808 | 1088 &8 200
i 812 |66 |02 680 440
112 S | NN Tifis |fiSSe | 064 | 742 480
3 a7 n 506 4Mm 636 | 631 B0 275
6 33 186 461 26 681 | 466 456 ]
U 38 299 528 | 3@ 532 386
NOG BT-218 | & 47 | a8 1215 608 440
9 1138 | 1688 | 1380 G684 435
19 1063 (1533 | 1323 760 550
" 987 |H7R | 1247 838 805
|12 4 =y W Vg (1171, ) 92 680
ﬂ 5 2 4n 738 5 820 | 785 we 554 410
6 485 | 2% 488 | 847 | 674 ;5 665 492
7 53 | 673 | 784 | 584 | B6E | 756 1147 | B47 1888 [136 |1528 [13%8 |1T21 | 1320 775 575
NOG BT-2408 | 8 683 | 463 | 874 644 os6 | W6 [1367 [oe7 |1448 1298 |1040 |1218 |2022 | 1782 e 656
[} 791 | 532 | ¢83 |74 [ima |;5 |1386 [1108 |1657 |1i0e (1938 |1ee0 |2822 | 2088 838 739
10 901 |84 |00z |eos (123 |ee€ | 1475 | 986 |1857 |70 (2240 | 18B6 1108 821
11 1010 804 |1201 |88S (1393 | B& (1775 (1450 |2158 |i942 1218 203
12 i 1118 |7 (1311 | 774|693 |18 |2076 | 173 1330 685
-4 L T ol s R R O PR I B | 787 560
& T80 508 1074 8on | 1861 | 1080 | 1652 | 1861 1642 1062 (2823 |268 &72
7 %0 | 642 | 50 | 932 | 541 | 1223 1831 1804 (2412 [2004 |2703 2084 1101 783
NOG BT-2708 | & 1138 775 | 420 | 1088 |1719 1647 (2200 |1B37 2080 |17 (3172 |2808 1258 a5
=] 1817 | %08 1607 2188 |1778 |2478 | 1779 |080 |2651 |3684 |3232 1416 1007
o 1486 1333|2076 |1823 |2367 1623 [2948 |2405 |3m9 3078 1572 119
11 175 (1984 [1485 |2255 |1466 |38 |2887 |a417 |28 1730 1231
e s 12 1868 [im8 2144 (1308 [=726 (2180 [3g0e | 2761 BET 13
EJ e | | AT | | | W | O | B | o2 7 1 ¥ 06 | 730
El 117 |7 (1618 | 1118 | 914 | 1617 | 212 | 1216 (2711 | s14[3109 2712 1273 8%
'’ 1368 | 808 | 1768 | 1205 | 218 | 1703 |2666 |210 32963 __ 1485 1082
www.famcocorp.com .
2 3 . - -
() Tel:obl-F Aoooo k9 (215 Uagsato 0512) (5,504 01)S)ju V) jioghsS « g5
) E-mail: info@famcocorp.com =
() Fax:er) - FEAqESEP 1P Uy by cuds oSulyUL (59529,
@famco_group -




Sizing information and How to order

Single Acting Actuattor Output Torque(Nm)

Air pressure Spring Torque X
B 2.5bar 3.0bar 3.8bar 4.0bar 4.5bar 5.0bar 5.5bar 8.0bar 7.0bar 8.0bar Spring Torque
Modal gln o kol f0.d a0° | ¥ a0° > a0~ |0 a0 | o 80* | O° a0 | o a0 |0 8¢ o a8C o a0
= Start | End | Start End _St_ﬂrt End | Start | End _Stan End| Start| End | Start| End | Start | End | Start | End || Start | End Start End
8 1810 1281 2407 | 1878 | 5003 | 2474 | 3800 32071 | 4198 | 38H7| 4793 | 42584 1702 1173
6 1575 |oed0 | 272 | 1637 | 27e8| 2133 | 3085 | 2730 3081 | 2328 4888 | 3923 | 5166 | 4620 2043 1408
7 1038 | 1197 | 2534 | 1793 | 3131 | 2390 | 3727 | 2080| 4324 | 9583 | 4g21 | 4180 | 5517 | 4180 2383 1642
NOGBT-360B| g 2200 | 4452 | 2896 | 2049| M2 |2648| 4089 | 3242 | 48990 | 3830 | 5282 | 3839 | 8478 | Se26 2724 1877
9 2861 | 708 | X287 3854 4451 | 9490 | 5047 | 3460 | 8240 | 5288 | T34 | 482 3064 2112
10 1064 3620 | 2561 | 4217 | 3158 | 4818 | 3168 | 6006 | 4047 | 7200 | 6141 3405 2348
1 9385 | 2221 | 3982 | 2818 | 4578 | 2818 | 5771 | 4EO7 g:igg %’;g ggﬂ
7 Lira | 4348 | g7 8730 _| 5480 4086 | 2815
-t Ptmw e et oo e e | sen (wrrotmesTEE ] D TjES e (o | 3080 857
8 |2460 |ess | 3000 | 1808 | 2850 | 2858 | 4700 | 3508| 6650 | 4388 6400 | s208 | 7250 | e0s8 3292 2100
9 1888 |BR | 2738 | 1307 | 3860 | 2247 | 4438 | 3007 | 5288 |3947| 6138 | 4797 | Beo8 | mBa7 | 7838 | 5647 3708 2382
NOGBT-#008| 4 |4z8 |185 | 2478 | 985 | 3328 | 1835| 4178 | 2885 3538 5876 | 4385 | 6726 | 526 | 7876 | B26 | 0270 | 7785 411§ 2624
byl T3 | 574 J063 | 124 | 3813 | 2274 | 4783 |3124| 5613 | 3974 | G463 | 4824 | XS | 4824 | 9016 | T4 | 10713 9074 4526 2887
© 2801 | 101z | 2651 | 1862( 4601 |=z71z| 5861 | 5662 | 6201 | 4412 | 7051 | 4412 | 67 10451 4938 3148
2 3308 | 1451|4238 | 2301| 5088 | 3451 | B38 | 4001 | 8788 | 4001 | 6480 | 8581 | 10188 | 6251 5349 3412
| 3978 | 1839 4806 | 2739 | gove | 3580 | sMe | a8 s120 |88 | 783 5761 3674
18 4663 | 2328 | 5413 | 9178 | 6283 | 3178 | 7969 | 5720 |o0063 | 7425 8172 3937
— | il . be . | i L aToe | a0uh | ETew | TR | oaan | &4 | mis _BEe4 | 4188
Sizing information and How to order
Bufterfly valve 100% 100% 2
Forexanipie: Airtravel0® =148.7N.m> 80N.m
Plug vavel; pos. 30% Butterfly of the original maximum Airtravel 90° =96.7 N.m> 24N.m
80% tongue=80Nm Spling stroke 90° =157 N.m > 24N.m
Bal vave(100% Openedtorque80 x 30%= 24N.m Spring stroke ° =105N.m> 80N.m
\ / 0% Airpressure=5Bar The above figures show opening
. 40% Wecanchoose BT-1255K10 meetofthebutterfly valve
L ——
QOpen * Opewating 80° Close (¥

Operating type {Double acting and spring return)

Alr supply connectlon =12 The Namur drive pinion and the Namur top
designed In accordance @ ,@ mounting connectlon parmit direct

with NAMUR Standard Installation of accessorles such as limitswitch
o ingtall solenold valves. e @ box and positianer.

Bottern mounting connection B designed n
accordance with (505211, DIN3337standards for
direct mounting with valve gear boxes or
mounting brackets,

Operating conditiohs:
1.Operating media
Dry or lubrlcated ak, or the non-corrosive gases
The maximum particle diameter must less thon 30 Bm
+5-5 2 Air supply pressure
The mindmum supply pressure & 2.5 Bar
The maximum supply pressure k 8 Bar
3.0perating tamperature
90° Standard: -20C~+80T
Lowtemperature: -20TC~+80TC
Hightemperature: -15T~+150°C

=5 4.Travel adjustment
+5 Have ad]ustment range of 15° for the rotation at 0°and 908
§ B Annliratinn
Jwww.famcocorp.com =
@ P (l’ Tel:oPI-F A ecocoo 9 (25 Uegraio 0312) (5,54 01)S)ju Pl JiogliS « ylygs
) E-mail: info@famcocorp.com =
©) Fax:or) - FFagrEsE? 1P Sy« Ly cuds oS, UL (59,29

=) @famco_group



Air Consumption

Ar Consumpfion
Maxmumn |Theangle off 1'the reed toadjust| piymet Internal volume On-off time Weight
Model pressure rotation | eMPerature [ umberofiaps | Dot | lose Open close Open | Aweight Spring weight
DADE DAD.6 | DAL3ID
NOG BT - 525 Ve 52 0.1 0z spon E: n_._; £rtan 0.0095
DAD.7 AD, DA2.05 —
NOG BT -635 1/e &3 0.2 0.3 SR258 cain | cpaan 0.0135
NOG BT - 755 u5 7 P oo | e
NOG BT -835 115 -] 05 0.8 LI 5 0.0265
DA 1D DA10 | DA4.ES
NOG BT -925 15 ) 0.7 11 _.Biig_% g,; 1_% ,__Is.i ,E %ao 0.0600
1. 1. R =
ALy, - wohd 174 105 12 1.8 SR3.0 _ SR1.0 | SR6.70 0.0730
— 17 6" | .0 |DABSS | =
NOG BT -1255 |  ordryof b 1ol mBg'%Tﬂ?) 1/4 126 15 23 SD,?E‘C‘,‘ DAf s SD;‘,aofs 0.1100
elrsbar 0" ““G{High DA25 EAZ.& DA 13.35 | _ ~
NOG BT -1405 Tont 174 140 24 30 | spin  sR1o 1 0.1865
paralura) ; —
Vitono—r DALS DAL T T oA B30 =
NOG BT -1605 —1E-+160 1/ 160 a1 49 | spap SRS |smaaie | 0.2655
NOG BT -190$ Tomperatire) 1/4 190 a5 73 | DASO DAdbTIDASTOS r
. = ' -y o
NOG BT - 2108 14 20 | 58 M2 | speg  SRA.0 |SR4ssg | 05001
NOG BT - 2405 14 240 b wr [BETOND MR e
NOG BT - 2705 Va 2o | s 24 | MO 00 | RPN | ieto
NOG BT -3005 1/a aihlf 2ss  eqpTATY  DARREDA LT o amo0
DA14 DA14 DA 186.0 o
h9G Bi- 3508 14 3%0 | 381 48 | sra0  sR10_|SR2160 | 25001
DAT5 DA15 DA243.0 -
NOS BT S a8 400 | 526 56 SR25  SR12 |SR279.0 |  3.0001
AF consumption restwith Supply. Alrvolume and Action cycle times,expressions
LMIn=Alrvolume{Air volume Opening+Alr volume closing) > EAlr Supph/(iKpa)+ 101.3)+ 101.3] XAction cycla timas{/min)
Common faults and inspection, iroublashooting
Failure phenomenon Inspection tems Salutlon
1. ihe elaciromagneticvane b nomal, coll s bumed, Solanold vaive replacement, replacemnent
Electromagnetic vave is stuck being stolen colis, remave sfolen property.
2 aseparate air supply pneumatic actuator test,
Preumatic valve ocan not move cheaok seals andWhether the cyviinder b damaged. RepiagerQiogdiiing and ovigi,
3, there ae Impurties h the spool vave stuck. Ramaove impurtiies. replace damaged parts.
4, the hande i o manual moter location. change the handie to pneumatic position
The increase of gas supply pressure
1. supply pressure Is not enough. (0.4-0, 7Mpa)
Siow Trotien, arowling 2 pneumatic achuator output forque & foo small. Increcsethe preurdtic actuator Producton.
3 the valve spoal or valve assembly too tight. Re-assamblyadjustiments.
4, ar supply pipe piug, flow 15 1o smail. Exclude piug, repiace the fiter carhidge.
1, power ihe shortelrcultoropen circult. Maintenance of power linss,
Reply devices withowt signal 2, reply within the cam posltion I8 not acourate. Adlust the cam 10 the comect location
3, miore switch damaged., Replacement Micre Switch
www.famcocorp.com Ve
5= (‘ Tel:eF1-F Ao oo 19 (2)5 uegraio 0312) (5,500 0lyS) ju Pl yioglsS « yhgs
.@j E-mail: info@famcocorp.com =
= () Fax:oPl - FEIIESEY 1P Sy ¢ uyly cads 0l8duUl (59529)

@famco_group




uwww.famcocorp.com ~
(D Telwori-F Aoooo k9 (295 Usgiai 63L2) 5,8k 81185 P iogh « g

J E-mail: info@famcocorp.com =
©) Fax:or) - FEAqESEP 1P S L s s8EuUL (59520

@famco_group



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10

